EITEN
[EIERRAT SRR ZR (RIHBSRA T Bk A RS RIR)

BT EIERRIRAE ARG 2

SRR = EARRAES W AFER ; SRERAE =S BIEFE- S B A
B, EARSRAE -8 R ERAE | B4 , BIREHAREAERE ? TH
FeAi TRT LAMRIE— N SERRAIBIFINLARER : R4N |, EFRAARIXXIRITRR1057T | &
MEARE3TF |, RIR2013FRHAITHAIEHIIT , ERRIEEFIRZ0.5125% ( B
BISSFFEARY TR FRIERE6.15% ) . BBA , B—TH&EAIE=100000%0.5125%=
512.5 ; F—1MREBRARE=F— 1M HIEFE: ( BRTERKSGL ) -521.5 ; F—1H
RIFAE=100000- ( F—THEFER-521.5) ; F_PHAEEFIE={100000- (
FE—NBIEFER-521.5 ) }*0.5125%..... LAIEEBRREHRASITELUEE | BE
EFRTEEEAILE (BIFREIER ) .

RiEfaEHIREI FHIRITRFEAVAEEES ?

EEMEAGIE  FEEMEEEL

HISHRABEHMEAGEN , MIEREAMERENFNBAREHAE NI %
f&4aRERE ? 7

FERBINREEZEFEBERLD ZRRAFEAR  BHERBRAERTATRIE
, RN ERIRRRAY

1/1


http://www.tcpdf.org

